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In the Hydrostatic Pressure Force ona Plane Surface Experimeft
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In the Losses in Pipe Bends Experiment, The minor loss coefficient K
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In the Hydrostatic Pressure Force on a Plane Surface Experiment, The leve
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In the Thermal Conductivity Experiment, The experiment was son:
dimensional heat transfer problem because of the small cross & =1
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alg ugblpﬂbﬂla Experiment, The chest pressure Has to be const
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10.In Heat Pump and Air Cooler experiment, the fan cons
consumed by the compressor.
(2 Points)
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11.In flow tﬁmugh nazzle e:-;penmenf the mass flow rate
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~ 13.Choose the wrong statement below:
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5.The phase nﬁ@@ at 100°C and 2.5 bar
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12 In flow through nozzle experiment, the mass flow rate of air [E
(2 Points) i
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t‘.hnose the wrong statemet befow: [T
- (2 Points)

{0 The second-law efficiency of all reversible processes is 100%.
() The thermal efficiency of all reversible heat engines s 100%. &

e : ﬂ The thermal efficiency of a heat engine cannot be greater than its second-law efficie



11.In Heat Pump and Air Cooler experiment, the
working fluid is air
(1 Point)

false

12.]In losses in pipes experiment, if the following
data were measured: mass flow rate of 0.2 kg/s,
density of water is p = 1000 kg/m3, diameter of
small pipe size 14 mm, dynamie viscosity of water
is p=1x L10] A(-3) N.s/m*2, roughness of the
pipe surface is €= 0.0015 mm. The Reynolds
number is

(1 Point) '/

2100.12

O 18189.14

57142.86

36378.27

None of the above



13.]1In losses in pipes experiment, if the following
data were measured: mass flow rate of 0.2 kg/s,
density of water is p = 1000 kg/m3, diameter of
small pipe size 14 mm, dynamic viscosity of water
is p=1x 110 *(-3) N.s/m*2, roughness of the
pipe surface is = 0.0015 mm. The friction
coefficient is

(2 Points) Vel

0.036

0.033

0.027

14. If the following data were measured for the
expansion section in losses in pipes experiment:
mass flow rate of 0.25 kg/s, the density of water is
p = 1000 ka/m3, diameter of small pipe size 14
mm, dynamic viscosity of water is p=1x [10] A(-3)
N.s/m*2, the minor head loss is 0.1 m. The loss

coefficient K is l/
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1.116

4.464

0.595

0.744 '/

O None of the above

15. The theoretical T-P saturation slope [i.e.
(dT/dP). _sat] at absolute pressure of 3 bar in
K/kPa is

(1 Paint)

0.114
0.0%0

O 0.158

0.075

None of the above
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